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Learning Target:

Chemists write elements with a one- or two-letter symbol. For hydrogen,

this is just H.

Sometimes chemists also write a little number on the bottom-left corner

of the symbol. This is the nhumber of protons in the nucleus, Z, so

hydrogen would be 1H, because hydrogen atoms have only 1 proton.

The number of protons Z is always the same for each element.
The second element is helium, with 2 protons, and then come lithium with
3, beryllium has 4, boron 5 and carbon 6. Let's make model drawings of

these six atoms, including the orbitals but leaving out the electrons:
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1H: Hydrogen oHe: Helium sLi: Lithium

4Be: Beryllium sB: Boron 6C: Carbon

Question
Look at a periodic table of the elements. Can you notice any pattern in

the order of the elements when you compare it to the list above?
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